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AT 39T
AFleIRad a1l %1 SATYeH gy TR 31 ERed] € IeT HIforg :

(i) atggAHaTE s

(i) SATIIAH35993 |

(i)  I9-97 % AR GUSI A fG47fSrd {1 T & — WUS &, @, TaqTd |

(iv) WUSHEIY G 18 14 (@TGaFda I4) & TR IAF 9 1 S F1 2 |

(v) TWISTIIIGET 15T 18 (9 WCS-3MeRa T%) & IR T AF IF 1 HH H 8 |

(vi) TUSTE T TEIT 19 T 25 T 2 371 & T T T 26 T 29 IIF 3 3HI 3 |
(vii) TEUS T T IY GEIT 30 T 33 TAF 4 31l & TYT T4 GEIT 34 3T 35 IAF 5 3Tl & & |
(viti) FB T 7 SR e [RYTTE |

(ix)  T&l i ST1ave &, 39k I2TS| & GIY 39 I 1 GH FIfTq |

Qug <h

[CHEETR iR

1. Tfafed & @ s-ar faewed Jerfes qiver o & 4 Siifaent # fag ged 1t Sug®
g?
(A) T[T R e
(B) wauwHtE . § fawivg
(C) AR GATghR
(D) €It qe el

2. TSI & W SR ol = SHIfSTT |

(A)  ==T9ed I gfdat (B) e fRreq
(C) = firew (D) SR FesreRar
3. W@ & I ATT o I i e, o ST @rer gaTet § g #d ¢ |
(A)  5-60°C (B) 5-60°F
(C) 15-100°C (D) 15-100°F
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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) All questions are compulsory.

(it)  This question paper contains 35 questions.

(iti) The question paper is divided into four sections — Sections A, B, C and D.

(iv) Section A has questions no. 1 to 14 (Multiple Choice Questions) of 1 mark
each.

(v)  Section B has questions no. 15 to 18 (Case study-based questions) of 1 mark
each.

(vi) Section C has questions no. 19 to 25 of 2 marks each and questions no. 26 to
29 of 3 marks each.

(vii) Section D has questions no. 30 to 33 of 4 marks each and questions no. 34 and
35 of 5 marks each.

(viit) Internal choices are given in some questions.

(ix)  Support your answers with suitable examples wherever required.

SECTION A
(Multiple Choice Questions)

1. Which of the following option is most suitable for a career in the field of
clinical nutrition ? 1
(A)  Quality control manager
(B)  Specialist in HACCP
(C)  Diet consultant
(D) Sensory evaluator

2. Select the traditional handicraft of Odisha. 1
(A) Channapatna dolls (B)  Shola craft
(C)  Bamboo craft (D)  Warli painting

3. Identify the Danger Zone temperature range at which bacteria grow on
food stuffs. 1
(A) 5-60°C (B) 5-60°F
(C) 15-100°C (D) 15-100°F
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4. TTHIOT ARG H TS TS (TH.T, STR3TS. ) TREATSHT gl 3 ohi 715 off ?
(A)  ImEH (B) TS
(C) dfreTg (D) efemm
5. (F) AU ASHT ARG H =t T T TI9T iAo Siaid @ ?
(A) WOTEET AT ERRT (B) 3SR I HIUHA
(C) SEHISIEE. (D) IS &l Frsh
areraT
(@) ST Tk & Tore Tsdia A Forierss sl foher diweh-ae <l ahefl <l 371X
AfFa 8 ?
A) faefme (B) ire-dw
(C) IWEH (D) WA
6.  ITIFTSAT o fed | TRIRTA ShogAT e UfehT fohd =T 3T JhRM o ?
(&) Ao (B) wnd
(C)  EIh UST FHEH (D) 9
7. Tfafed & @S-8 AT i 9T 48 SR At ot Sem a1 St # de &
sAferer wfged s ot STt 2, At Rgreet ot sreen St =t 2
(A) < oW ey (B)  HIqdcd AT AT
(C) et srfufrm (D) @ AfafEm
8. W Hehe 3TN 3Heh IATEXT o Ul I hl =9I HITVT |
(A)  fowrs & At Sifae dere - sfar
(B) fomms 7 < ATt gamsifars Hehe — i
(C) TEHF Gohe — TSfeal & Ihe
(D) ik Hehe — el
9. ARG IRATT HATGEHH HEA HRA H Ty TET % TR T shi HaTG Iucisyr
FAE ?
(A)  wrafHeR (B) qdre
(©) fedtoss (D) "
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4, Where was the Sustainable Access in Rural India (SARI) project started ?
(A) Assam (B)  Gujarat
(C) Tamil Nadu (D) Haryana
5. (a)  Annapurna scheme is under which nutrition programme operating
in India ?
(A)  Nutrient Deficiency Control Programmes
(B)  Food Supplementation Programmes
(C) ICDS
(D)  Food Security Programmes
OR
(b)  Which nutrient deficiency is targeted by National Prophylaxis
Programme for Prevention of Blindness ?
(A) Vitamin A (B) Iron
(C) Iodine (D) Protein
6. In the interest of consumers, ‘Consumer Voice’ magazine is a publication
of which country ?
(A)  Australia (B) India
(C)  United States of America (D) Nepal
7. Section 48 of which of the following Act states that creches should be
maintained if more than thirty women are employed in an industry or
factory ?
(A) The Plantations Labour Act (B) The Maternity Benefit Act
(C)  The Factories Act (D) The Mines Act
8. Choose the correct pair of food hazard with its example :
(A) Visible biological hazard : Bacteria
(B)  Invisible microbiological hazard : Worms
(C)  Chemical hazard : Bone fragments
(D)  Physical hazard : Hair
9. All India Institutes of Medical Sciences provide which level of health care
services in India ?
(A) Primary (B)  Tertiary
(C)  Secondary (D) Intermediary
[OEEA0]
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10.

A © T U STl TS 7 | forer e farfer st s & e St & 2

(A)  SEUEH (B)  Tared
(C) =shur (D) wed
11, g1 o fou 7 ey geer od qurer st seer i e g1 fow g 3ees
foreror @ i |
a1 T-11
(@) (Fereren)
i  Hudh 1. g -ar @9
i, IMEUE.a. 2. @ HIHTE] T’ T ThEH
iii. Sseg A 3. YA o LAFzoh ScdTe JHTIehToT
iv. sl 4. fom § =TI Al 1 AT F 5
T ad 1995 # wenfua
frmfarfad 7 @ w2t faerer 9T ;
(A) i-4,ii-38,iii—-2,iv—1
B) i-3,ii—-4,iii—-1,iv—2
(C) i-2,ii—1,iii—4,iv-3
D) i-8,ii—-2,iii—-4,iv—1
12. -1 & f3U T foepre €= 7 fafyr @ e g=-11 4 fou e Sue e |
IS |
-1 gi-11
(faera T=r #1 fafey) (33180
i. AR 1. fER
ii.  oEmE e 2. TewgEdH TR — BT U TR
iii,  HEAT AR EER WA 3. ST UTEsh S
iv. AT 4. gAY faamds
frefafiad 7 @ w2t faere g ;
(A) i-4,ii-8,iii—-2,iv—1
B) i-8,ii—1,iii—4,iv-2
(C) i-2,ii—-8,iii—1,iv—4
M) i1-3,i1—4,1i—1,iv—-2
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10. Which method of washing is used in a front loading washing machine for
clothes ? 1
(A)  Tumbling (B) Agitation
(C)  Spinning (D)  Pulsation
11. Match the organisation of food safety and quality given in List-I with its
description in List-II. 1
List-1 List-11
(Organisation) (Description,)
i. CAC 1.  Worldwide non-governmental federation
ii. ISO 2. Publishes ‘Food Code’ document
iii. WTO 3.  Voluntary Product Certification of India
iv. BIS 4, Established in 1995 for administering
trade agreements in the world
Choose the correct option from the following :
(A 1i-4,ii-3,iii—2,iv-1
(B) i-3,ii—4,iii—1,iv-2
(C) i-2,ii—-1,iii—4,iv-3
(D) 1i-38,ii—-2,iii—4,iv-1
12. Match the Method of Development Communication given in List-I with
its example in List-II. 1
List-1 List-11
(Method of Development (Example)
Communication)
i.  Campaign 1. Tele-centre
ii. Community radio 2.  Hindustan Times — Project
Village Chhatera
iii. Information and 3. Jago Grahak Jago
Communication Technology
iv. Print media 4. Banasthali Vidyapith
Choose the correct option from the following :
(A 1-4,ii-3,iii—2,iv—-1
B i-3,ii—-1,iii—4,iv-2
(C) i-2,ii-38,iii—1,iv-4
(D) i-3,ii—4,iii—1,iv-2
[OEEA0]
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13.  SANMATS! § HRRA S@WIThdl o STUTETd Ul hl Te=H HIfVT |
(i) St 3R 3 faspr o %t
(i) sl ot TSIl o 3T o T 3Tf=aT
(iii)  =afrTTa R=Tarel st Twge T STeHdT
(iv) ScHIEd Td SHefae
frfafiaa o & gt faere g
(A) (1) 3 (iv) (B) (i) 3R (iid)
©) () AR (i) (D) (i) IR (iv)
14. (%) =IIH HETT @ GaTH oAl QTSR ST T[OrEre ST T o forg o wiskanatt
T SRINT foRaT ST @ 2
() BieEr
() e wefia g @ Serer ST
(i)  BTFGISIRTOT
(iv) 3= T 9 T
frefafea & & w2t faser g
(A) () 3 (ii) B) () I (i)
(C) (i) 3 (iv) (D) (i) 37K (iid)
3TAAT
@) TR FTRT 7 R T AR () T AT A wer A 2
(i) B H =
(i) TR T 9IYeh Hed B % fAg
(i)  FTHERTSI HIGAATSAT hT HTTTIHATHT ! T FA o [T
(iv)  Sfia Sieft o ufteda
frefafaa o & w2t faee g
(A) (1) IR (D) (B) (i) 3R (iii)
(C) (i) 3R (iv) (D) (@) IR (iv)
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13.

14.

Identify the desirable qualities in a caretaker working in an Anganwadi. 1
1) Interest in children and their development

(i1)  Unwilling to answer children’s queries

(i1i) Inability to understand individual differences

(iv) Enthusiastic and energetic

Choose the correct option from the following :

(A) (@) and (iv) (B) (i) and (iii)

(C) () and (iii) (D) (i) and (iv)

(a)  Which processes are used in minimally processed foods to retain
the quality of fresh foods ? 1

(1) Shelling

(i1)  Storage at low refrigeration temperature

(iii) Hydrogenation

(iv) Baking at high temperature

Choose the correct option from the following :

(A) (i) and (ii) (B) (i) and (i)

(C)  (ii1) and (iv) (D) (i) and (ii1)
OR

(b)  Which factors have increased the demand of readymade foods in
India ?

(1) Deficit in agriculture

(ii))  To decrease the nutritive value of diet

(iii)  Catering to the needs of working women
(iv)  Changes in lifestyle

Choose the correct option from the following :

(A) (i) and (ii) (B)  (ii) and (iii)
(C)  (iii) and (iv) (D) (i) and (iv)
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LCLERCH
(ShT TET-ATTHE T )

=T F| SAYEP GlgU R I3 G&1 15 4 18 7% % St glird |

TN I F 3 THER fafi= Rom & o707 gt Y Jend SATavaeharsit
QU T YT GHIS shl 3 AT ST TG sh1 ST Attt fofsiey St 7k
Uge ST IFRT ITINT i H 316w Bld &, $TH © Teh T 0T GRE H HereE =,
forIoeT @ foreftar wmaT ol T 2 | A€ 2, 3Tk =, AT SR FEoH A9 TREnt
T 3T &1 ST 8 3T 379 o7 WX & Sl i o fore S fou S € | St o1t
HTITIHATST bl & B I LA H hlSATE Bl € |

15.  HoaRIer Gl o foTq HEerTatl/wrishl o Haw W, el I T 9= HIfT |
(A) HITIRT . Yforat T TS
(B) URUe®E A TcdES STl SR @Heidr
(C) IR : =l o [oTU Ueh Yo T ¥
(D) UL THRATH TR IRER-SATYTHG S
16. -1 9 31 8 S, YAl F FEHI oh 178 T8 ol THer Fei-11 H 3T Heiferd a9 &
IV |
geil-1 Gel-11
(T&<T) (@)
i  THINT™. 9 M 1. 2000, 2015
ii. Ter?r?iIFlTﬁﬁ 2. 1999
ili. gl o forg et Hife 3. 2003, 2014
iv. = @=aificam@ it 4. 1964
GT&ToT) ATty
frefafiad 7 @ w2 faere g ;
(A) i-4,ii-3,iii—2,iv—1
B) 1-3,ii—4,iii-1,iv—2
(C) i-2,ii—1,iii—4,iv—3
D) i-3,ii—1,ili—2,iv—4
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SECTION B
(Case Study-Based Questions)

Read the passage carefully and answer the questions no. 15 to 18.

Many families in our country are unable to meet even the basic

needs of their members and/or access as well as utilise the various

services provided by other structures of the society due to various

reasons, one of them being lack of resources, especially financial. Further,

many children, youth and elderly are separated from their families and

are left to cope on their own. By themselves, they find it difficult to meet

their own needs.

15. In the context of institutes/programmes for vulnerable groups, choose the
correct pair : 1
(A) CARA Organising rallies
(B)  Promotion of Adventure Child Rights Convention
(C)  Observation Home A kind of home for Children
(D)  Promotion of National Integration : Family-based care
16. Match the initiatives for children, youth and elderly given in List-I with
their related year in List-II : 1
List-1 List-11
(Initiative) (Year)
i.  SOS Children’s Villages 1. 2000, 2015
ii. National Youth Policy 2. 1999
iii. National Policy for Older 3. 2003, 2014
Persons
iv. Juvenile Justice (Care and 4. 1964
Protection of Children) Act
Choose the correct option from the following :
(A 1-4,ii-3,iii—2,iv—-1
(B) i-3,ii—4,iii—1,iv—-2
C) i-2,ii—1,iii—4,iv-3
(D) i-3,ii—1iii—-2,iv-4
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17.

18.

19.

20.

A few u &1 smet BT SAfiRYT (A) 3R HRT (R) & &9 § e foram mam |
SAYFIT (A) ;AT & AT Hotl § F U U &, Sl (o176 § FIgTeia & |
FRU (R) : TTHTOT 3R SIS FaT HaRiiel §9E ¢ |

Fr farw e forepedt § & wartfires SRR ST T

(A) (A IR (R) AR E 3R (R), (A) HI Gel ATEATR |

(B)  (A) 3R (R) AT 6 &, WlRA (R), (A) il 98t AT T2 2 |

(C) (AT AT (R) TR |

(D) (AT &, oferT (R) T € |

= fou 7T 2 shet  SfireReH (A) SRR (R) & &9 § 3iferd frar mam 2 |

SYFT (A) - TSI T A TR TATEL ATTTIRATSN I YGH A o foTT T
TR TTHTISGh THEIRT o o i ST & |

FR (R) : WIRd H 50 99 AT 3Hereh 1Y 71 o TRl hl AT FATNES HHT ST
2l

et faw e fereredt H & warifersh Suge 3T I :

(A)  (A) R (R) THT Tl & 3 (R), (A) il T&l AT R |

(B) (A) 3R (R) IAT &l €, AfR (R), (A) T wdt e 721 2 |

©) (A)THe AR TEag|

(D) (A)TId 8, Afeh (R) T 2 |

Qug T
(TY-3TRHIT 92)

() U7 SR G907 Heleft TSl & TuTe % e SRR & sty
Fr FrrT o7 Tfter st @ 10 foReel @Y STeurafer Xasidt Y SRt 39 Y
1 e fag Fifs |

YT

@) SR 7 TF R % S T # e w1 e fmar 7 ) 9w e
TISUTRIAT forehTX 3T Teeh & ? 39 T | faw@Ts o At fohvel &1 31T SAeavit oht
e

Mg % %D Todl TTehideh HTIET % RN gY & HRX oo & | g4 AT IR HH-8

IR TR o TGt sTeell shl ST 3T HLRI0T ST SAT9ehaT aidt & 2

1
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17. Given below are two statements labelled as Assertion (A) and Reason (R). 1
Assertion (A) :  Within the broad category ‘Youth’, there are some groups
who are especially vulnerable.
Reason (R) : Rural and tribal youth are vulnerable groups.
Select the most appropriate answer from the options given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C)  (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
18. Given below are two statements labelled as Assertion (A) and Reason (R). 1
Assertion (A) : 1t is necessary to provide for the economic and health
needs of the elderly to create a conducive social milieu.
Reason (R) : In India, Senior Citizens constitute persons in the age
group of 50 years and above.
Select the most appropriate answer from the options given below :
(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C)  (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.
SECTION C
(Short Answer Questions)
19. (a) ‘Poshan Abhiyaan monitors and reviews the implementation of
strategies to address the nutritional problems’. Justify this
statement by giving any two short term interventions. 2
OR
(b) A doctor has diagnosed a fall in haemoglobin levels of an
adolescent girl. Which nutritional deficiency disorder does it
indicate ? List any two other symptoms which may be seen in her
in this disorder.
20. Few children of a village have become victims of a natural calamity and
are without home. Besides these, which other four types of vulnerable
children need care and protection ? 2
[OEEA0]
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21.

22,

23.

24.

25.

26.

27.

28.

T YT Ioh0T & 3719 RIT THEd © ? 36 ol 3STeL0l i | 2

e TR ohl @THT T STANT iV TSI o |1 ek Sl T (ol TR Jervd
TR o HE T G foRaT ST HhelT &, STk AT AR | 2

TSI UL SEALT AT T I i O fore gonm i1 @ 2 %hiS &1 3iae Aifviw | 2

T BT S19ell Tt § T Wrer et Ue SEnfieht o Heweret for o o # S
1 3G © | 36 Hawl H, foh a1 SMeshaistl 4 36 wne faiy Arer o | wee &
S feremfrd wfsrar sht AT +ff sIaTsy | 2

(F) AT TAT IR H A= T8 T | 2
Tt

@) A QAW AR T $HeRT Har # Jui hifeg |
(F) U &S % T i F et off qo 9% wft wpet T WS T | o 5wk

ATAT-fUdT S8Rt STRaAT Ueh ITTATE Y T § Sl T 9Med @ | 34 aefhdl &
T IR TR T hl AISHT o ATH T YT aITSIC | §6 AISHT b1 hlg T
& fergIeTd SHEsT | 3
AYAT
(@)  Sihe 3 T IcqTe HA H AU FHAET 6 A 3ugh wriedd 1 i
AT TTEAT & | 38 G hT THATHT TR Ik 3T AT STaATR HRIEI h
fesafe & geriehi & st &t werme 4 |

BIC Sedl o (k™ § foeTed @ aTdreryT fFd T § ATg €, 6% S8 SN0
& TSI | 3

(F) SIS, AR I R HITa Y07 ST FAT SATARIF & 2
@) T 31 &l O forehe Toreh i i ot HehaT & 2

() 39 THTCRM 68 1 AW AT SEH HR H SRR, WA I JHHH
TR, TG Afeferd & | 1+1+1=3
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21. What is meant by food fortification ? Give its two examples.

22. By using different types of lines in various combinations on fabrics, name
four basic groups of shapes which can be formed ?

23. How is ironing different from hot pressing of clothes ? Give any two
differences.

24, A student is curious to learn about the major developments in food
processing and technology that occurred before the 20tt century. In this
context, name two researchers who made a significant contribution in
those times. Also name the process developed by each one of them.

25. (a) Differentiate between underweight and wasting.

OR
(b)  Write the full form of PEM and describe it briefly.

26. (a) Sumera lived in a remote village and was never sent to school.
Now her parents want to admit her in a residential school. Suggest
the name of the scheme by the Government of India meant for such
girls. Explain any two other features of this scheme.

OR
(b)  Jacob wants to set up a suitable workplace for his employees in his
own manufacturing company. Advise him to use ergonomics in
designing workplaces by giving the definition of ergonomics and its
two benefits.

27. Provide six reasons how a pre-school environment is beneficial for young
children’s development.

28. (a) Why is it important for DCJ professionals to be well versed in

computer skills ?

(b)  In which two areas can a Development Journalist work ?

(c) Name the umbrella term that includes computer hardware and
software, digital broadcast, etc. 1+1+1=3

69 Eng
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29. (F) AT ok YA hl B forRivarstl i gefeg Hifo | 3
AT
(@)  EEETiAd golrs 7 g T ST ATt % sl aftErer s Seeid HIfT |
Qus g
(e -3 we)
30. (F) U ARK S Ahell Id AT & SH fohE ThR T SRR AT AT ? 39 IER
IS AT I&TEL0T ST |
(@) T T T IS o o foheall a1 adieht ot farawor difste | 2+2=4
31. AU TTET 7 Tt 3 B oTel W A WHie, S o5 diet o 3 3 fofam |
(F) A Hosit foshaT o =R aieht & ool dier 37X AT T RN Tk TTeeht
@I & ?
(@) 38 HeH |, Uk Hdeh SUHIHT o &Y H 3 & Tcd -8 8 2 2+2=4
32. & () 9 fog % oy IRa § off @ geen Hfaar seet § R
TUTSRIT T WTE L&t ol AT Hee Hell 8 17 36 Hav o, @
TOTIRIT S Y& ohl HATIRFHAT o &l HEwI 01 10N T FehrT STeT |
(i) @ AR @RS WM s ggee RIS, SRy sat o
HRUT thell Tehd @ | 2+2=4
AT
@ (1)  WRdH i U @ FEA S EHiRd U ST SATIe T
A9 R ? 3 el ATATATA fopm mRIm O 2
(i) U e fafmior st @rer g Yefee Soelt Tfid R @ | e
TR SR TUrET I A o FoTg o SR SW—TT Sl ST et &
YU 3T Ui SIS |
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29.

30.

31.

32.

(a)

(b)

(a)

(b)

Enlist six features of Hospital laundry.

OR

Mention six work operations which are performed by an automatic
washing machine.

SECTION D
(Long Answer Questions)

Which type of diet should be given to a person who has dentures ?

Give any two examples of this diet.

Describe any two ways of feeding a patient. 242=4

Your grandmother has purchased apples from a street vendor, who

cheated her by weighing less.

(a)

(b)

(a)

(b)

By which four ways can a fruit and vegetable vendor deceive his

customers using defective weights and measures ?

As an alert consumer, what are her two responsibilities in this
context. 242=4

(i)

(i1)

(1)

(i1)

“Food safety challenges have changed globally as well as
in India, and Food Quality and Food Safety have gained
tremendous importance”. In this context, highlight two
significant reasons of importance of Food Quality and Safety.

Identify two common food-borne pathogens that can spread
infection in healthy individuals. 242=4

OR

What is the full name of the comprehensive law that
consolidated various old food laws in India ? When was it
enacted ?

A food manufacturing company is establishing a Food Safety

Management System. Describe two systems the company
can use to ensure food safety and quality.
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33. (%) UF By fesmega w1 wifvly qrex o I o 73 g™ 9ug a9 1 M
HIOT TRIT 2 | a1 foh o SAgma o foheel o Ragiat sht ot fesreT wiskan &
hel Tehiehd ahal, Toraw wafof aTedr (TTiee HiM) W €T shisd foram SaT |

(@) 3 gEK I (I Thh) § 1AM 0 3R 10 &1 30 i & e wsr man g | 3
TCIH T ST & 2 3+1=4

34. (F) FHw & INER 7 U BeAT % T TF S0 | 3 Tl & AT 7 H
STET AT 2 |
TG HEATEd TeEeh o ® H A =5k hl Tedsh SFEAT o G T ST
STt AT T GEelg, ShISTU, TTreh ahlfcieh o TNAR o 1T 1=t ATfaea darstt
! G fhaT ST 8o | 36 F H TG FRCT T H HH-8 & €% 5

USSR GrdT il ? 4+1=5
T

(@)  “Sh¥T e US ohth’ 3TTTeh TTEX H Ue 3 sl & i =TT Gl € |
T G qUT 9 vt T, @ qer 9o veret st fersht o forg Sawerl € |
Y Heiferd 15 a1 8ar faymi o 19 Sa1se | 394 O fohet U war fanmr & =)
ShTH/4[WehT T U shiTSTT | 1+4=5

35. T By TR § ScisK Siohad, BiE Ue, TrdT Ired 3R ot ¢ fersht o foru waffa forg o
gl
(F) WM AN H TANT hT S ATl B Fiet IoaTeell o SFTAR, HehT Sl

FHIT 37T 3FaT T7aT3 |
(@) 3@ I VR T 5y fesigT smaai¥ent & o 98 = sifaewr & 9w
TS BT ? ek 3h shig Ueh [{HRT T et hiTorg | 2+3=5
%0
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33.

34.

35.

(a) A fashion design team has been tasked with creating a new apparel
collection inspired by the Golden Mean. Describe any three ways
how they would integrate the principles of proportion into their

design process, with a focus on Golden Mean.

(b)  They have been asked to use colour value 0 and 10 from a Grey

Scale. What do these equivalent values represent ? 3+1=4

(a) Kartik’s family has reserved a 3-night stay at a resort for their
vacation.
As the Front Office Manager, list down the actions to be taken
during each stage of ‘Guest cycle’ to ensure good hospitality
services for Kartik’s family. Which two staff members/personnel

would assist the Front Office Manager in this work ? 4+1=5
OR

(b)  ‘Fresh Cake and Cafe’, a new bakery and coffee shop is opened in
your city. Its Food and Beverage Department has the

responsibility for the sale of food and beverages.

Name any two service departments related to it. Describe four

functions/roles of any one of these service departments. 1+4=5

Blazer jackets, hot pants, polo shirts and baggy pants are displayed in a

fashion store for sale.

(a)  Classify and differentiate them as per fashion terms used in the

fashion industry.

(b)  Which three career opportunities will be available to fashion
design professionals in this fashion store ? Mention any one role
for each of them. 2+43=5
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